Potencias de 10 (D)

Calcule los siguientes productos y cocientes.

5.3595 x 0.01

5.2915+0.01

8.9038 +-0.01

9.1341 x 0.01

9.0791 +-0.01

9.3618 x 0.01

4.6464 < 0.01

5.2617 x 0.01

2.353+0.01

5.5718 +0.01

4.4941 x 0.01

7.7095 = 0.01

8.1678 x 0.01

6.1735 % 0.01

4.7757+0.01

5.0383 x 0.01

6.9534 x 0.01

7.7448 % 0.01

2.8896 x 0.01

9.1409 +-0.01
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Potencias de 10 (D) Respuestas

Calcule los siguientes productos y cocientes.

5.3595 x 0.01
0.053595
5.2915+0.01
529.15
8.9038 =-0.01
890.38
9.1341 x 0.01
0.091341
9.0791 +-0.01
907.91
9.3618 x 0.01
0.093618
4.6464 x 0.01
0.046464
5.2617 x 0.01
0.052617
2.353+0.01
235.3
5.5718 +0.01
557.18

4.4941 x 0.01
0.044941
7.7095 = 0.01
770.95
8.1678 x 0.01
0.081678
6.1735 x 0.01
0.061735
4.7757-+0.01
477.57
5.0383 x 0.01
0.050383
6.9534 % 0.01
0.069534
7.7448 % 0.01
0.077448
2.8896 x 0.01
0.028896
9.1409 +-0.01
914.09
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